e 5X

4

LA

Wy x iCHBIL, TOIRDEMNLI T L&, HloXERD LI W,

@D x=50t % y=30

@ x=100t % y=14

@ x=8dk % y=-9

@ x=—40DL % y=8

® x=7TDL % y=-28

©® x=140kZy=16

@D x=—-5DL % y=—45

x=18 DL & y=-21

/8




et o =X

&

i £ gi

/8

Wy xilfilL, &I ROEFERTEE, o ERkD R0,

@D x=5Dk % y=30

y=ax L35 ¢&,

x=5DL&y=30THoHh 5, 30=5a

@ x=100t % y=14

y=ax £ 35 &,

x=10Dt & y=14TH 20 b, 14=10a

@ x=8dk % y=-9

y=ax L35 ¢&,

x=8DLEy=—9ThHo»rb, —9=8a

@ x=—40DL % y=8

y=ax &35 &,

x=—4DLEy=8Thbb1b, 8=—4a

B x=7T0DL & y=-28

y=ax £ 35&,

Xx=TDLEy=—28ThHihrb, —28=Ta

a=—4

©® x=140kZy=16

y=ax £ 35 &,

x=14 DL % y=16 TH250b, 16=14a

@D x=—-5DL % y=—45

y=ax £ 35&,

x=—-50D¢ZXy=—45THLH» b, —45=—5a

Q
Il
o)

y=9x

x=18 DL ¥ y=—21

y=ax £ 35 &,

x=18Dt & y=—-21THoh56H. —21=18a




